
NAW-1 US

Part Nos. Part Names Order Nos. Q'ty/unit
001 NWC-ADAPTER - NAW-1 US (SET) SHC710Q 1
002 Cover - Circuit Board SHC710R 1
003 Screw Package - NAW-1 US (SET) SHC70XP 1
004 Dry Wall Anchors6X25
005 Screw - Medium Tapping M4X10 S410
006 Wire Clamp - Nylon #4 7287909 1
007 Screw - Mounting Tapping M4X35 S305
008 Screw - Round Head Machine M3X6 S430
009 Front Cover - NAW-1 US (SET) SHC7128 1
010 Screw - Circuit Board Cover M4X8 SM3
011 Remote Cord - 6 ft FABM001 1
012 Installation Manual - NAW-1 US SHC804Z 1
013 BOX - NAW-1 US SHC8068 1
014 Owner's Guide - NAW-1 US (SET) SHC806K 1



NWC‐ADAPTER‐NAW‐1 US (SET) Cover‐Circuit Board

Screw Package - NAW - 1 US (SET)

Drywall Anchors6X25

Screw - Medium Tapping M4X10 S410

Wire Clamp - Nylon #4

Screw - Mounting Tapping M4X35 S305

Screw - Round Head Machine M3X6 S430

＋

Repair ManualUnit

＋

Owner's Guide
‐NAW‐1 US (SET)

＋

Repair ManualPlastic Cover

×３

×２

×３

001 002

003

004

005

006

007

008

NAW-1 US



Front Cover - NAW - 1 US (SET)

Screw - Circuit Board Cover M4X8 SM3

Remote Cord - 6 ft

BOX - NAW-1 US

Installation Manual - NAW-1 US

w/ Noritz logo,
NWC-ADAPTER

Front Back

w/ Instruction

×２

Owner's Guide - NAW-1 US (SET)

note) #14 set does not include
"Unit information sticker"

009 010

012011

013 014

NAW-1 US


